
Section 3.5 Homework
Andy Long, Spring 2024

Problems 2-6

Observations: 
We want to relate dx/dt and ds/dt.
By similar triangles, (s-x)/6=s/13
s=(13/7)x
ds/dt=(13/7)dx/dt
ds/dt=(13/7)6 ft/s = 78/7 ft/s 

Observations: 
volume(h,r)=1/3 pi r^2 h

dVin/dt = 



Observations: 
volume(h,r)=1/3 pi r^2 h

dVin/dt = 

In[1313]:= 9600 + 5^2 Pi / 14^2 * 150^2 * 22
N[%]

Out[1313]= 9600 +
3093750 π

49

Out[1314]= 207 953.107592723
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Out[1305]= 9600 +
3093750 π

49

Out[1306]= 207 953.107592723
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In[1315]:= -4 / 15 (1 + (ArcTan[1 / 3])^2)
N[%]
Plot[-4 / 15 (1 + (ArcTan[x / 90])^2), {x, 0, 90}]
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Out[1315]= -
4

15
1 + ArcTan

1

3

2

Out[1316]= -0.294272911801212

Out[1317]=
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